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PES 5A7H 100m il - S(3) 10.63 (+1.9)| 24k #1(3) 10.71 (+1.9)| 7 B AE2) 10.71 (+1.9)| =7 JIk(2) 10.88 (+1.9)| 31 #5F(3) 10.89 (+1.9)| KA1 HHE(3) 10.90 (+1.9)| % H=(3) 11.13 (+1.9)
B A = s B A [ HO SRR HURUREHTE LR H%s H A
5A8H 200m U Q) 21.58 (+2.0)[ZEHK #i(3) 21.94 (+2.0)| - SL(3) 22.08 (+2.0)[5zfE  Z&3(3) 22.13 (+2.0)|/FK FA3E(3) 22.29 (+2.0)
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/60 100m EEPNG) 48.23| ) HiHiFA(3) 4951 H0(2) 49.77(¥H BEIN(1) 49.95(¥EvE #=1(3) 51.06| A #EF(3) 51.81 |1 BEK(3) 52.75
HUR AR A A SCEE FrEEN E R LA B Jhitk B
5ASH 800m R OKHEB) 1:58.53| 1L Hii(3) 2:00.29| % H HEE(2) 2:00.95|85 A HLFk(2) 2:01.04|EERR 5 4(3) 2:01.66(1&=HE HEA() 2:02.10( H #EE(©2) 2:03.62| 23K ABFHE) 2:06.19
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5A8H 5000m Doy wAFUCF4T@ 14:39.20( 1010 THE3) 14:57.69|W0 5 Hk(3) 15:36.44|HkH 1E(3) 15:38.46|[L15 &HKL(2) 15:46.23| )11 KEARE(2) 15:49.75| ik Kd(2) 15:53.81|Ff K Hi(2) 15:54.47
B A5 [EI B B A [E B H A STHEL Vel H A ST Pl s e B A5 [E B
5H6H 1omH i Va—2(3) 14.78 (-0.2)| AT KHH(3) 14.80 (-0.2)|'7i%  F#45(3) 15.04 (-0.2)|80 A BHK(2) 15.27 (-0.2)|fli/s  TFH(3) 15.29 (-0.2)[$3K FR(3) 15.91 (-0.2)| s HAEH(3) 16.42 (-0.2)
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5A7H 3000mSC 6] 9:32.94(fh)11 HEFR(2) 9:36.04| /=B #jZ2(2) 9:55.65[3 7 P 5(2) 9:57.04| & H K(3) 9:57.11 [ {#H(3) 10:06.32| & HeA(3) 10:06.78|F2J50 Fifsh(3) 10:07.64
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5A8H 5000mW SHH KHE(3) 26:45.65 (i 55 #i A(3) 28:48.24| (L% HHA(3) 29:32.92| 5% A&E(D 30:46.06( /5 #K(1) 31:53.57 285 J&(1) 34:20.78| fit-Jal AAN(2) 35:34.11|A)11 #EA(3) 36:36.32
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EERSE[S 41.31| BB 4191|318 42.36(H% HFE 42.99[HTEE — 43.07| B ASCEE 43.11
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5560 - B HE(2) 1.90[3 FERi(1) 1.90|2FN #EKER(2) 1.90| /X7 HEAR(1) 1.85|/ 1L #1A(2) 1.85| 75/ [E(3) 1.80| B[ H5K(3) 1.80(FrPy IEEEL(2) 1.75
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5A7H - Iy #RK(3) 6.59 (+1.1)| =4f J(3) 6.59 (+0.9)[ KL KHB(3) 6.57 (+0.8)|ZHH #E=}(2) 6.53 (+1.6)[ =k R4(3) 6.41 (+1.3)| 75k BRA(2) 6.27 (+0.9)[H=F EARQ) 6.22 (+0.8)|'= A R (1) 6.21 (+1.5)
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5A8H — ik LA ] R3) w14.26 +2.5)| IR T 3E(2) wi13.35 (+2.9)| PPy B HR(2) wi13.15 (+5.1)| P32 1:(3) 13.02 (+0.9)| (Ll #=A(1) 12.56 (+0.7)| /MG A pk(1) w1251 (+2.6)| A #4(2) wi2.41 +3.0)| A RIE(2) w12.23 (+3.2)
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5H7H o, A JR(2) 13.34 7)1 %:(2) 12.34| )\ EHERR(3) 11.61| 9N HilE(2) 10.92| BEAR  SL—HR(3) 10.67[HJ1 &#5(1) 10.53| A% h(1) 10.46(H18F KA 3) 9.92
B A [ B A [ GRS FHEI I P Hrd L HURUEAE TR s
5A8H - PEVLIIE - (@) 39.89| B4 {EH(3) 39.33(HIAS JE(2) 39.03|1# A KHn(2) 34.00|750  Jith(1) 32.54| 1L HEAHR(3) 31145 k(D 30.99|/M BEI(1) 29.18
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5A6H o HER FEBH(2) 47.74(FEH AEQ) 45123 B HEA(3) 44.66(AR FH(3) 44.46|B9 1 HLHh(3) 41.30| AT JR(2) 39.86|a# i BEEk(2) 38.82| Al FHA(2) 36.92
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INFERH /N8 fEA(3) AN B WKL) 4293| AR FEFH(L) 32277k R 2865|/NitL HEAT(3) 2569
* G A A B FOL BN
5A6H 100m 12.09 (-1.7) 11.88 (-1.7) 12.73 (-1.7) 12.97 (-1.7) 12.05 (-1.7)
5A6H ARk 6.19 (-0.8) 5.75 (-0.5) 4.99 (-0.5) 5.37 (-0.4) 4.98 (-0.6)
5A6H L 8.30 8.62 7.50 8.36 5.88
5H6H 400m 53.65 53.19 58.45 59.32 58.14
5HTH 110mH 16.95 (+1.8) 16.39 (+1.8) 19.31 (+1.8) DQ 22.47 (+1.8)
5HTH ESUE S 38.49 2353 23.32 27.37 27.18
5H7H S 1.65 1.70 1.60 1.60 NM
5ATH 1500m 5:00.18 4:58.79 5:19.62 5:32.67 5:32.02
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SATH o HH bH2) 39.35| A EA(Q) 3868 12 ARLE®M) 38.34| ki ELif(2) 31.66(ILIH fEEQ) 30.02(Jk%F PLR(2) 26.31 [ (1) 17.42) )11 ¥h4d(2) 17.15
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5H6H . T8 fEILER) 42,61 (#h{k Z=%(3) 4045(FEH KWEQ) 38.97| VB ®Ex(2) 35.72|71 . HHEEB) 33.96| 1AM JIH®3) 30.86 | AT (1) 30.72| A FYHE(3) 29.64
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100mH 15.78 (+1.4) 18.02 (+1.4) 20.11 (+1.4) DQ 17.58 (+1.4) 19.64 (+1.4) 18.60 (+1.4)
Bk 1.35 1.25 1.35 1.40 1.25 1.20 NM
i AL 7.18 6.96 7.01 7.46 8.11 6.15 5.77
200m 27.67 (+0.8) 28.37 (+0.8) 2855 (+0.8) 29.23 (+0.8) 28.46 (+0.8) 30.31 (+0.8) DNF
Mg Bk w4.76 (+3.8) w4.31 (+2.3) w4.89 (+3.7) w4.55 (+2.2) w4.00 (+2.4) 457 (+1.7) w4.28 (+2.7)
RSUE 4 20.55 23.03 15.48 2350 26.46 24.41 35.63
800m 2:44.98 2:47.46 3:05.91 2:45.80 DNF 3:09.93 DNF
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1 AEEE 231 15 13 11 16 16 15 5 15 10 8 7 15 8 10 21 21 11 14
2 HAXE 104 2 7 6 9 10 8 9 3 3 21 3 17 6
RE=LEED 54 4 13 11 3 8 10 5
4 EiE 4 7 8 4 1 4 17
[EEC 41 1 8 5 6 3 2 2 4
6 Fini 32 6 6 2 6 5 7
1308 23 1 4 10 4 4
8 {EiETE 22 7 3 9 3
9 FFEHER 21 3 5 9 4
10 T H 20 6 4 8 1 1
1 FHiRE— 19 6 1 4 2 6
12 FiET 18 3 15
13 FTFEHEPR 13 2 5 1 5
14 #iB/ 12 1 5 6
15 §f £ 11 3 8
15 FiRr 11 3 8
17 iRl 11 4 7
18 Jritd 9 3 6
19 BERE 7 7
19 FiiBEkE 7 7
21 M 5 5
21 FiRE 5 5
23 Pk 4 4
23 FiE 4 4
25 FIRT 2 2
25 Fit 2 2
27 fF Edy B 1 1
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8 Fimhy 28 3 7 3 5 4 6
9 FiIHBR 20 5 6 2 7
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11 Jbi#s 13 8 5
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13 $TFEHE 12 12
14 #iB7 12 2 4 4 2
15 £ 10 1 1 8
16 &ERE 7 2 5
17 381/ 7 2 4 1
18 #FiBm 5 3 2
19 AR 3 3
20 #iE 3 2 1
21 & 2 2




